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yia ] M65 | 2 396 | +25 [ &40 [ 000252 NG BIT | 67 3.80 | +0.6
FEnEBk M70 | 1 393 +11 [ = 000597 XN 72

= %Rk M35 | 1 12.66 | +2.1 | %0 | 001028 Wik B 36 1263 | +1.6
=E&Bk M35 | 2 1234 | +34 | IEE | 000417 KHE 5F 37

= %Rk M35 | 3 1205 | +25 | =& | 000686 TH =2 37

=& M40 | 1 1216 | +4.5 | %0 | 001163 =G 41

= xRk M40 | 2 11.88 | +1.3 | %1 | 000630 WE FE |44

=Rk M45 | 1 1211 [ +2.8 | %0 | 000604 INIL 2 | 46 1128 | +1.8
=Rk M50 | 1 12.89 | +3.1 | E%[ | 000675 hiE F 51 1259 | +1.4
=Bk M50 | 2 10.96 | +2.3 | kB | 000315 il FH | 51 1092 | +1.7
= &Rk M50 | 3 1043 | +2.8 | %1 | 000361 B FE | 54 1042 | +1.0
=Rk M55 | 1 1004 | +1.4 | =& | 000453 Bl E8 | 58

= %Rk M60 | 1 1025 | +2.9 | IEE [ 000093 EH Al | 62 975 | +04
=E&Bk M60 | 2 1001 | +2.6 | K£% | 000265 A &2 [ 60 9.92 | +1.9
= xRk M70 | 1 846 | +1.3 | =& | 000597 ENE 72

=Bk M70 | 2 720 | +1.3 [ =4%0 | 000097 EE KX |72

FaHh 1% M25 | 1 9.32 g2 | 001601 | BIA =—&R | 28 7.26kg

[RER M30 | 1 12.18 = 000696 it R [ 34 GRKM |7.26kg

Fah % M35 | 1 7.02 = 000493 M M | 36 7.26kg

[ R M40 | 1 10.19 £ | 001472 B BZ | 42 7.26kg

Fah % M40 | 2 8.32 t4fE | 001470 g 40 7.26kg

[ R M45 | 1 9.54 £ | 001444 P SE(E | 48 7.26kg

Fah % M45 | 2 8.53 = 000442 FIER = 46 7.26kg

B M45 | 3 8.50 = 000308 INEF BR— | 48 7.26kg

A% M50 | 1 10.04 = 000599 A ) 6.00kg

[RERR M50 | 2 9.94 Z450 | 000988 #iL =i | 50 6.00kg

i M50 | 3 9.61 Z50 | 001071 #E X 51 6.00kg

[RERR M50 | 4 8.88 Z40 [ 000980 Wit #8471 [ 53 6.00kg

JRERR M55 | 1 9.80 =& | 000460 R iﬁ 57 6.00kg

[RERR M55 | 2 9.52 I E | 000211 M+ BE 57 6.00kg

A% M55 | 3 7.45 =F | 000276 2l Bt | 57 6.00kg

[k M55 | 4 6.51 = 000095 EiE ER [ 58 6.00kg

% M60 | 1 8.31 IE | 000294 h% 3RAE | 63 5.00kg

B M65 | 1 11.75 Z50 | 000461 it f 65 5.00kg

ik M65 | 2 10.45 g2 | 000004 &0 HE | 68 5.00kg

B M65 | 3 7.60 =& [ 000290 Il Eh | 66 5.00kg

JRERR M70 | 1 11.78 Z40 [ 000022 W #E | 74 4.00kg

B M70 | 2 11.14 Z50 | 000644 sl & 70 4.00kg

R % M70 | 3 8.75 =& | 000488 FE EE |70 4.00kg

B M70 | 4 8.34 taf@ | 001344 X B 74 4.00kg

i M70 | 5 7.99 =& | 000597 g0 R 72 4.00kg

FaHhig M70 | 6 7.92 E5 | 000017 =g FBE | 71 4.00kg

i M75 | 1 5.78 k&2 [ 000378 e Fx |77 4.00kg

T % M80 | 1 10.24 Z40 [ 000080 Wk M [ 80 GR 3.00kg

Fanis M80 | 2 8.06 = | 000527 i 82 3.00kg

Tk M80 | 3 8.02 E8 | 000274 | #E4 K &k | 81 3.00kg

R M85 | 1 7.42 £ | 000111 ZEH S |85 GR 3.00kg

FaHhig M90 | 1 6.21 546 | 000052 =ik [E 91 3.00kg

AR M25 | 1 30.46 g4 | 001601 | BIE R—BR | 28 2.00kg

EEEa M25 | 2 23.77 Z40 [ 001168 W R— | 26 2.00kg

A M30 | 1 35.05 = | 000696 bt R [ 34 GRKM [2.00kg

A% M45 | 1 22.27 tm | 001444 Y =S | 48 2.00kg

A REE M45 | 2 21.45 = | 000442 FIER = 46 2.00kg

EEEa M50 | 1 33.07 = 000525 fH 7T | 52 1.50kg

A% M50 | 2 32.39 Z451 | 000980 Wit #47 [ 53 1.50kg

A% M50 | 3 31.08 E% | 000505 B &X [ 54 1.50kg

A% M55 | 1 28.39 = | 000460 Fk 3 57 1.50kg

EE M55 | 2 23.23 IEE | 000211 mi HBE [ 57 1.50kg

A M60 | 1 23.91 IFE | 000294 h% 3RE | 63 1.00kg

A M65 | 1 37.98 Z5 | 000461 bt f 65 1.00kg

A% M65 | 2 33.01 £ | 000004 A0 FE | 68 1.00kg

A% M65 | 3 31.66 Z41 | 000887 FiZE —# |65 1.00kg

A% M65 | 4 25.79 = 000290 Il IEH | 66 1.00kg

8% M65 | 5 18.98 Z4%1 | 000470 =vY%& — |65 1.00kg

A% M70 | 1 25.35 K% | 000017 =28 K | 7 1.00kg
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Mg M70 | 2 23.37 = 000488 FE EE |70 1.00kg

AR M75 | 1 33.69 £% | 000022 | [LUE X—EBR | 75 GR 1.00kg

8% M75 | 2 31.43 =& | 000207 gl & 77 1.00kg

B M80 | 1 20.97 = 000702 )l SFE | 80 KM 1.00kg

8% M80 | 2 18.52 = 000527 B 82 1.00kg

B mM80 | 3 12.67 =& | 000407 maf =EF | 82 1.00kg

8% M85 | 1 16.02 £ | 000111 EH S |85 GR 1.00kg
NnNo<w—% [ M35 1 41.62 =% | 000720 | Ak E—EF | 39 | GRKM(E) [7.26ke
Nno<w—% [ M40 |1 40.83 Z450 | 001081 e == | 42 GR 7.26kg
NOT—% M45 | 1 23.57 K% | 000484 Lig & 45 7.26kg
Now—% [ Ma5 ]2 23.35 =& | 000308 INEF BR— | 48 7.26kg
No<w—H% [ ms0 [ 31.22 = 000525 fHF FIT | 52 6.00kg
NoT—4% | M55 [ 1 19.24 = 000276 =il #th | 57 6.00kg
No<w—H% [ ms5 ]2 11.93 = 000095 EiE ER | 58 6.00kg
Now—4% | M65 [ 1 44.28 Z40 | 000461 hft f 65 5.00kg
NoT—1% | M65 | 2 32.07 Z450 | 000550 | HF#EE EE | 66 5.00kg
No<w—% [ Me5 ] 3 19.21 = 000290 Il IEH | 66 5.00kg
NnNo<w—HE [ m70 |1 45.09 Z450 | 000022 WH 1ER [ 74 4.00kg
Now—4% | M70 | 2 34.17 Z40 [ 000644 Sl & 70 4.00kg
NOT—% M75 | 1 39.21 £% | 000022 | UMW %®—ER | 75 GR 4.00kg
NnNo<w—% [ M5 ]2 29.71 = 000207 galll & 77 4.00kg
NoT—3% | M80 [ 1 31.68 Z41 | 000080 gk BEM | 80 GR 3.00kg
Nno<w—% [ mso | 2 25.74 E% | 000274 | #E4K #k | 81 3.00kg
NoT—3% | M85 [ 1 13.61 g6 | 000111 EH =4 | 85 3.00kg
Nno<w—% [ Moo |1 16.75 £ | 000052 =ik B 91 3.00kg

L) M40 | 1 33.79 E26E | 001471 %4 EA 41 0.80kg

HY M45 | 1 48.00 £5% | 000655 Al —dh | 45 0.80kg

U M45 | 2 35.22 IFE | 000335 25 ME | 48 0.80kg

HY M45 | 3 28.72 =% [ 000308 INEF BR— [ 48 0.80kg

PBUE M50 | 1 41.28 B4 | 001357 | =#m)Il Fsh | 52 0.70kg

DU M50 | 2 17.98 Z40 [ 001190 B EE |54 0.70kg

HPYE M55 | 1 34.73 %0 | 000908 il &+ |55 0.70kg

HY M55 | 2 23.70 = 000276 = #th | 57 0.70kg

PYE M65 | 1 34.81 =% | 000471 X & 65 0.60kg

HY M65 | 2 33.08 £ | 000004 20 HE | 68 0.60kg

HYE M65 | 3 24.36 = 000534 X¥E =— |68 0.60kg

HY M70 | 1 33.13 Z50 | 000644 sl & 70 0.50kg

U M70 | 2 32.39 520 | 001344 X =B 74 0.50kg

DU M70 | 3 27.44 £% | 000017 =g FBE | 71 0.50kg

PYE M75 | 1 31.97 =% | 000207 Bl & 77 0.50kg

HY M75 | 2 30.94 £% | 000022 | 1A %—ER | 75 0.50kg

HYE M75 | 3 16.67 %0 | 000510 WWHE F7 |78 0.50kg

HY M75 | 4 14.61 Z50 | 000522 S5 B= |76 0.50kg

PUE M80 | 1 22.96 Z40 [ 000080 TR BEM | 80 GR 0.40kg

HYE m8o | 2 19.95 E5 | 000274 | 4K &k | 81 0.40kg

60m w35 | 1 1081 | +1.4 | = 000738 EiR RE | 35

60m w40 | 1 1066 | +1.4 | = 000699 | He {EIF | 42

60m w40 | 2 1104 +14 | = 000716 = MF | 43

60m w45 | 1 8.66 | +1.8 | &40 | 000825 =K BE | 48

60m w45 | 2 885 | +1.8 | &40 [ 000391 BoF x| 49

60m w45 | 3 896 | +18 [ = 000509 | PR ERfZF | 45 KM

60m w45 | 4 1112 +1.8 | = 000662 S5l ER [ 46

60m w50 | 1 850 | +2.4 | =40 [ 000762 £F EF |50

60m W50 | 2 864 | +24 | &4%0 | 000833 | /\t FEFEF [ 51

60m w50 | 3 932 | +18 | = 000647 | XJIl E+% [ 50

60m w50 | 4 933 +24 | = 000294 | {kgkE <HAHF |51

60m W50 | 5 976 | +24 | = 000634 =B BR¥ [50

60m W50 | 6 999 | +24 | =41 [ 001124 Bl IEF [ 54

60m W50 | 7 1136 | +24 | = 000705 e 'F | 51

60m W55 | 1 9.42 | +23 [ %0 | 000599 ®_EiE 55

60m weo | 1 1205 | +2.3 | =& | 000687 | #5K H#EF | 62

60m W75 | 1 1252 | +2.3 | £% | 000284 BRE XF |75

100m w30 | 1 1557 | +0.5 | =& | 000594 x BES 33

100m w40 | 1 1513 ] +05 [ = 000405 Sl FoE | 42

100m w40 | 2 1591 | +05 | = 000610 FE EF |42

100m W40 | 3 1781 | +05 | =& | 000716 = fF | 43

100m w45 | 1 13.75 | +2.0 | =50 | 000825 =X BE | 48
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100m w45 | 2 1470 +2.0 | = 000509 | *FItE HfF | 45 KM

100m w45 | 3 1561 | +2.0 | =& | 000640 EE BE |49

100m W50 | 1 1356 | +0.3 | %0 | 000762 £F EF |50 GR

100m w50 | 2 13.95 | +0.3 | &40 | 000833 | J\t F:FF | 51 GR

100m ws0 | 3 1523 | +03 | = 000647 | XJIl E+% [ 50

100m w50 | 4 1562 | +0.3 | = 000582 HO =f2 [ 50

100m W50 [ 5 1563 | +0.3 | = 000634 =E B¥ |50

100m W50 | 6 16.46 | +0.3 | %1 | 001124 Bl IEF [ 54

100m ws5 | 1 1513 | +3.5 | 240 | 000599 " _EiE 55

100m W60 | 1 1952 | +35 | =& | 000596 R EF |63

100m W75 | 1 2126 | +35 | KEF [ 000284 BR XF |75

200m w30 | 1 3327 | -03 [ =& | 000594 FYEE 33

200m W40 | 1 3161 -03 | = 000405 Sull #E | 42

200m w45 | 1 2822 | -03 | &40 [ 000825 =A BA |48

200m w45 | 2 3205 -03 | = 000509 | FI4R ER&F | 45

200m w45 | 3 4107 -03 | = 000662 el ER [ 46

200m W50 | 1 28.10 | 0.0 | %1 [ 000762 £F EF |50 GR

200m w50 | 2 2991 | 00 | &40 [ 000377 | #EH mBi2F | 54 GR

200m w55 | 1 3241 | 00 | %01 [ 000599 " EiE 55

200m w55 | 2 35.06 | 0.0 | M [ 000328 FE =ZF |59

200m W60 | 1 4349 00 | = 000596 e EF | 63

400m w30 | 1 1.04.97 Z450 | 001029 e B [ 32 GR

400m w50 | 1 1.04.70 50 [ 000377 | HEH HELF | 54 GR

400m w50 | 2 1.11.29 =F | 000294 | {kfE <AHF |51

400m w55 | 1 1.21.80 545 | 000328 R =F [ 59

800m w40 | 1 2.32.70 = 000711 W BF | 4 KM

800m W50 | 1 2.48.02 40 | 000837 L BEF [ 50

800m w50 | 2 3.25.02 Z50 | 001124 Bl IEF |54

1500m W40 | 1 5.22.70 =& | 000711 g BF | 41

1500m W50 | 1 5.38.33 Z50 | 000837 I BEF | 50

3000m W65 | 1 13.48.81 =5 | 000028 | X% [£5H | 66 GR

80mH W45 | 1 1409 | +1.5 | %0 | 000391 28 HE 49

80mH w45 | 2 16.80 | +1.5 | =& | 000729 i USF | 49

80mH w45 | 3 16.89 | +15 | = 000640 EE BE |49

80mH W55 | 1 1568 | +01 | = 000076 fEHh F1F | 57
3000mW [ ws5 | 1 21.02.56 Z50 | 000912 WE BF |57

ES B W40 | 1 1.24 = 000610 HE EF |42

Eo Bk w45 | 1 1.21 = 000729 FH YSF [ 49

ES Bk W50 | 1 1.09 = 000705 WA 5F |51

BaBk w50 | 1 2.40 = 000105 R BEF 51 GR

ERBk w45 | 1 479 [ +2.6 | £% | 000518 fmE & 47 464 | +0.9
E Nk w45 | 2 423 +1.7 | &5 | 000391 BEF FE |49

ERBk w45 | 3 398 | +1.7 [ =& | 000729 | #FEW WEF | 49

E gk w50 | 1 471 +22 | %1 | 000873 | /MNEFH =& [ 50 422 | -1.7
FEngBk W50 | 2 389 | +1.7 | =& [ 000634 =K BA¥ |50

E gk W50 | 3 357 +16 | = 000294 | {kf& <HF | 51

E Tk W55 | 1 421 +32 | = 000076 fah F0F | 57

E g Bk w75 | 1 250 | +36 | ¥ | 000284 BR XF |75 215 | +1.0
= &k w45 | 1 1060 | +1.7 | K% | 000518 fmE & 47

= &Rk w50 | 1 1026 | +1.5 | Z4%1 | 000873 | /NEFHA =& [ 50

=Rk W65 | 1 981 | +23 [ E% | 000037 | KHME BEiF | 65 [WRARNRGRE®) 968 +1.4
i w45 | 1 8.03 Z451 | 001077 ik BBF | 46 4.00kg
i w45 | 2 5.71 = 000662 S5E O ER [ 46 4.00kg
A% w60 | 1 7.92 520 | 000452 ME ED 60 3.00kg
EEEa w40 | 1 38.16 = 000721 | Rk#E EHKF [ 40| GRKM |1.00kg
A W45 | 1 22.80 Z50 | 001077 ki MBF | 46 1.00kg
EEEa w50 | 1 29.63 = 000101 | JIliE BHZE | 54 1.00kg
A AEE w60 | 1 21.63 E4M | 000452 HE ED 60 1.00kg
Nno<w—% [ weo |1 20.87 £[ | 000452 #E EM [ 60 3.00kg
PYE W30 | 1 28.43 = 000594 # B8 33 0.60kg
HUE W40 | 1 28.52 = 000610 HE EF |42 0.60kg
PYix W45 | 1 25.88 = 000706 TH BF | 46 0.60kg
HUE W50 | 1 36.95 Z5 | 000833 | J\#t FFEF | 51 GR 0.50kg
PYE w65 | 1 16.71 = 000094 | Pk =& | 67 |GREDKMED|0.50kg
(F—7V)

60m M40 723 | +1.9 [ EE | 000961 #HHE BE | 4

60m M50 814 | +05 [ XBr | 000516 HE HE | 53
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60m M65 843 | +34 [ & 000451 FE EX | 66
100m M40 1147 | +1.5 | & | 000961 #HHE BE | 4
100m M40 1202 | +1.5 | =R | 000417 &k 1B 44
100m M45 13.24 | +2.0 |#0gkiL| 088600 ER Ba |45
100m M50 1287 | +0.2 | KBx | 000516 HEE HE | 53
100m M65 1353 | +3.0 [ =B | 000451 E BEX | 66
200m M40 2382 | +0.7 | FJ&E [ 000961 BH EE |4
200m M40 2428 | +0.7 | £B | 000417 &K & 44
200m M50 26.52 | +0.8 | KBr [ 000516 HE OHWE |53
200m M65 2872 00 | =B | 000451 E BEX | 66
400m M40 55.00 Z=RK | 000417 &K 18 44
1500m M45 5.47.77 =11 | 000325 Wi BEth | 49
5000m M45 19.34.61 =L [ 000325 ieh Bt | 49
3000mW M35 15.27.12 Z=E | 000456 PN 37
ES Bk M40 1.60 ZR | 000420 B Mz | 44
BE Bk M45 3.50 F0FeLL| 088600 ER BER |45
Bak M55 NM Kix [ 000674 fa)ll &EIE | 56
iz M60 11.10 EHR | 000686 B 3 61 5.00kg
BT M45 16.77 E1lL | 000325 e Bsth | 49 2.00kg
EE M55 28.70 EE [ 000179 5l FRIE | 56 1.50kg
A Rgs M60 47.23 BH | 000686 A 61 1.00kg
Nov—1% | M60 38.47 B8 | 000686 = % 61 5.00kg
A% W55 19.46 3% | 000193 | miEA EEF | 59 1.00kg
NnNow—% | wWs5 26.85 3% | 000193 | gTA ZEEF | 59 3.00kg
LY W55 23.40 #% | 000193 | M EEF |59 0.50kg
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